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General Intelligence & Reasoning

1). Select the option in which the given figure is
implicit (rotation is not allowed).

(a) (b)

2 ;
(c) (d) "
A /
2). Study the given pattern carefully and select the

number from which the question mark (?) can be
changed.

16| 36| 81
S0[42]|60
29)2717

(@) 37 (b)39 (c)25 (d)21

3). Study the given pattern carefully and select the
number from which the question mark (?) can be
changed.

27]130]40
15| 14| 22
36|64 |7

(@) 49 (b)81 (c)121 (d) 100

4). Six friends A, B, C, D, E and F are seated
around a round table. B sits immediate leftof D . C
sits third to the right of E . A is exactly between C
and F . D sits immediate left of E . Who sits
between A and E?

(@B (b)F (c)D (d)C

5). Select the number which is related to the third
number in the same way as the second number is
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related to the first number.
65:30::78:7
(a)51 (b)24 (c)50 (d)56

6). In a specific code language, SCENARIO' is
written as '383514118915". What will be written as
'"MONUMENT" in this code language?

(a) 261513201351320 (b) 261514211351420
(c) 131514211951420 (d) 261514211351440

7). Which of the two signs in the following equation
will be interchanged to make the equation correct?

25+ 14 x63-870+29=2383

(@) xand+ (b)+and—- (c)—and=+ (d)xand-—

8). Maheep started walking from his office and
walked 120 m towards south. Then he turned left
and walked a certain distance to Am. Then he
turned right and walked 80 m. Then he turned left
and covered a distance of B m. After covering
these distances, he reached his home. If the
minimum distance between Maheep's office and
home is 290 m, then what is the sum of the
distances A and B traveled / covered by him?

(a)230m (b)240m (c)210m (d)200m

9). Which of the following options represents the
correct order in which the words below are in the
English dictionary?

1) Cattle

2) Catering
3) Category
4) Catatonic
5) Catalysis

(@)5,4,3,2,1 (b)4,53,2,1 (c)5,4,3,1,2
(d) 5,4,2, 3,1

10). Select the option that shows the logical and
meaningful sequence configuration of the following
words.

1) Use

2) Harvesting



3) Sowing
4) Selling
5) Irrigation

(a)3.2,54,1 (b)3,54,1,2 (c)3,524,1
(d)4,1,3.2,5

11). Pritam started from point B and walked 40 m
towards West. Then, he turned left and walked 35
m. Then, he turned right and walked 25 m.
Harmeet started from point A and walked 45 m
towards the East. Then, he turned right and
walked 35 meters to meet Pritam. What is the
distance between point A and point B?

(@)100m (b)70m (c)110m (d)85m

12). Select the option figure that will come in place
of the question mark (?) In the following figure-
series.

PEIAFE A IEE s
+3 ALA 43|35 A +

+ 3FA

13). Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide
which of the given conclusions logically follow (s)
from the statements.

Statements:

No boat is ship.

Some ships are rods.

Conclusions:

|. No boat is rod.

Il. Some rods are ships.

Ill. Some rods are not boats.
(a) Only conclusions Il and Il follow.
(b) Only conclusion Il follows.

(c) All of the conclusions follow.

(d) Only conclusion Il follows.

14). Select the option which is related to the third
term in the same way as the second term is
related to the first term.

IDEAS : EJDTB : : FOREX : ?

(a) PGSFY (b) PGQYF (c) PGSYF (d) GPSYF

15). A paper is folded and cut as shown below.
What will it look like when opened?

(a)

S
[+ ] ]
o0 p
A A
o0 oY
[+ ]
(c) . @ °
00 g

16). From the following options, select the Venn
diagram that appropriately depicts the relationship
between the following classes.

Mammals, Engineer and Human
’ @
’ .

17). In the following series, select the group of
letters that come in place of the question mark (7?).

AJQ, ETC, IDW, ONM, ?



(a) VZC (b) UXC (c)ZXB (d)UYB

18). Study the given pattern carefully and select the
number from which the question mark (?) can be
changed.

4 18 21

20 15 50

? 42 98

(a)14 (b)18 (c)16 (d) 12

19). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

FOSTER : OFTSRE : : LAWYER : ?
(a) ALYREW (b) ALYRWE (c) AYLWRE
(d) ALYWRE

20). Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide
which of the given conclusions logically follow(s)
from the statements.

Statements:

All chairs are cupboards.

Some chairs are radios.

No chair is piano.

Conclusions:

|. Some radios are cupboards.

Il. Some cupboards are not piano.
Ill. Some radios are not piano.

(a) All of the conclusions follow.

(b) Only conclusions Il and llI follow.

(c) Only conclusions | and IlI follow.

(d) Only conclusion | follows.

General Knowledge & General
Awareness

1). Which country has recently won the Excellence
in Leadership for Family Planning (EXCEL) Award
20227

(a) Thailand (b) China (c) India (d) Japan

2). ‘From Purdah to Parliament’ is a book authored
by:

(a) Shaista Suhrawardy Ikramullah
(b) Fatima al-Fihri  (c) Soufeina Hamed
(d) Benazir Bhutto

3). Part of the Indian Constitution deals with
the Citizenship of India.

@I ()IV (c)ll (d)V

4). Cricketer M. S. Dhoni was granted the honorary
rank of Lieutenant Colonel in the Territorial Army of
India in the year:

(a) 2012 (b) 2011 (c) 2013 (d) 2014

5). The ‘Bhoodan Movement’ was initiated by:
(a) Bal Gangadhar Tilak (b) Mahatma Gandhi
(c) Vinoba Bhave (d) Lal Bahadur Shastri

6). India observes 10 February and 10 August as
the National Days every year.

(a) Deworming  (b) Nutrition
(c) Pollution Prevention (d) Anti-Drug Addiction

7). Who has become the first woman sky driver of
the Indian Army?
(a) Abhilasha Barak (b) Aarti Sarin

(c) Rajshree Ramsetu (d) Lance Naik Manju

8). Sake, a Japanese alcoholic beverage, is made
from fermented

(a) Soyabean (b) Oatmeal (c)Rice (d)Wheat

9). is the inflammation of joints due to the
accumulation of uric acid crystals.

(a) Myasthenia gravis (b) Gout (c) Tetany

(d) Osteoporosis

10). Which of the following funds accounts for flows
for those transactions where the government is
merely acting as a banker?

(a) Contingency Fund (b) Consolidated Fund
(c) Public Account Fund (d) Customs Fund

11). ‘Devanampiya’ and ‘Piyadassi’ were the titles
adopted by the King

(a) Kanishka (b) Bimbisara (c) Ashoka
(d) Chandragupta



12). Which of the following is a type of rice/paddy
grown in West Bengal?

(a) Aman (b) Kalyan Sona (c) Sonalika

(d) Pusa swarnim

13). The Sigiriya frescoes and Dambulla cave
paintings are found in:

(a) Nepal (b) Myanmar (c) Bhutan (d) Sri Lanka

14). Who among the following personalities was
known as the ‘architect of Operation Flood'?

(a) Tribhuvandas Patel (b) Vallabhbhai Patel
(c) Morarji Desai  (d) Verghese Kurien

15). What is the mascot of the Paris Olympics and
Paralympics 20247

(a) Phrygian cap (b) Mirai Towa (c) Vinicius

(d) Society

16). The is the most common unit for
measuring ozone concentration.

(a) Chain (b) Rod (c) Statute mile
(d) Dobson unit

17). The extreme fear of medical procedures
involving injections or hypodermic needles is
called:

(a) Selenophobia (b) Latrophobia (¢) Nyctophobia
(d) Trypanophobia

18). The Elephanta Island — off the coast of
Mumbai — that is famous for its caves is also
known as:

(a) Jejuri  (b) Gharapuri (c) Ranjangaon
(d) Marleshwar

19). Which of the following authors shares his/her
birthday with a fictional character in a book written
by him/her?

(a) Rudyard Kipling (b) JK Rowling
(c) RK Narayan (d) Jane Austen

20). Which section of the Indian Penal Code (IPC)
deals with 'disobedience to quarantine rule'?

(@) 272 (b)274 (c)273 (d) 271

Elementary Mathematics

1). The given Bar Graph presents Income and
Expenditure (in crores of Rupees) of a company
for the five years. 2014 to 2018.

Income and Expenditure (in Rs. crores)
of a company in 5 years

M Income
B Expenditure

2014 2015 2016 2017 2018

Years

The total Income of the company in 2015, 2017
and 2018 is approximately what percent less than
the total Expenditure in the five years?

(@26 (b)22 (c)24 (d)21

2). The given Bar Graph presents Income and
Expenditure (in crores of Rupees) of a company
for the five years, 2014 to 2018.

Income and Expenditure (in a crores) of a
company in 5 Years

Income and Expenditure (in Rs. crores)
of a company in 5 years

B Income
B Expenditure

2014 2015 2016 2017 2018

Years

The average Income (per year) of the company in
five years is what percentage more than its
Expenditure in 20157

(a) 20.2 (b)20.8 (c)24.6 (d)224

3). The present ages of P and Q are in the ratio 2 :
3. Ten years ago, this ratio was 3 : 5. The present
ages of P and Q are respectively :

(a) 44 years, 66 years (b) 38 years, 57 years
(c) 40 years, 60 years (d) 34 years, 51 years

4). In what ratio Rs. 18 per kg rice mixed with Rs. 25
per kg rice that the 25% profit can be earned after
selling the mixture at Rs. 25 per kg?

(a)5:2 (b)2:5 (c)1:4 (d)4:1

5). XYZis a 3 digits number such that when we
calculate the difference between the two three-
digit numbers XYZ and YXZ, the difference is
exactly 450. How many possible values exist for
the digits X and Y?

(@3 (k)4 (c)5 (d)6



6). The perimeter of a square plot is the same as
that of a rectangular plot with sides 35 mand 15
m. The side of the square plot is:

(@20m (b)25m (c)50m (d) 100 m

7). The following table represents the turnover of six
different firms during a period of six months (in
Crores). Study the table carefully and answer the
questions that follow.

Company [P Q| R | S | T|U
Months
April 35(38|50)| 36| 28| 40
May 45| 48| 65| 58| 30| 37
June 48142[(46|70 82|55
July 78| 58|75|85|65|76
August 2312714312518 32

September | 60)| 02|28 |81 (53] 32

In which month was the total turnover of all the
companies maximum?

(a) June (b)July (c)August (d) September

8). The following table represents the turnover of six
different firms during a period of six months (in
Crores). Study the table carefully and answer the
questions that follow.

Company |P| Q| R|S | T| U
Months
April 35| 38|50136| 28| 40
May 45| 48| 65|58 (30| 37
June 48| 42|46|70|82]| 55
July 78| 58|75|85|65|76
August 23| 2714312518 32
September |60) 02|28 81|53 32

What is the difference between the turnover of
company Q and U together in September and
company R and T together in April (in crores)?

(a)46 (b)52 (c)49 (d)62

9). The following table represents the turnover of six
different firms during a period of six months (in
Crores). Study the table carefully and answer the
questions that follow.

Company |P| Q| R | S| T| U
Months
April 35| 38|50|36| 28| 40
May 45| 48| 65| 58| 30| 37
June 48142146|70|82]| 55
July 78|58|75|85|65|76
August 2312714312518 32
September | 60| 92|28 |81 [53] 32

By what percent approximately is the turnover of
company P in June less than that by company S in

the same month?

(a) 45.83% (b) 68.57% (c) 31.43% (d) 54.17%

10). The following table represents the turnover of
six different firms during a period of six months (in
Crores). Study the table carefully and answer the
questions that follow.

Company |[P|(Q R | S | T|U
Months
April 35|38[(50|36(28] 40
May 4548|6558 | 30| 37
June 48(42|46| 70| 82| 55
July 78| 58|75|85[65| 76
August 23127143 |25(18]| 32
September | 60| 92| 28|81 (53] 32

What is the average of turnover of company Q in
May, R in July, T in August and U in June (in
crores)?

(a) 50 (b)46 (c)58 (d)49

11). What is the value of:

20f3+3x2+{@dx3-(5+2+3)}7

(a)24 (b)-24 (c)21/2 (d)-21/2

12). What is the largest four-digit number, which is
divisible by 32, 40, 36 and 487

(a) 8820 (b) 8640 (c) 9220 (d)9120

13). A cricketer whose bowling average is 10.5 runs
per wicket, takes 5 wickets for 25 runs and thereby
decreases his average by 0.5. Find the number of
wickets taken by him till the last match.

(a)50 (b)60 (c)55 (d)62

14). On Monday Sakshi reached 15 min before 9:00
a.m. for the meeting, Sakshi found herself half an
hour earlier than the man who was 40mins late.
What was the scheduled time of the meeting?

(a) 8:15a.m. (b)8:20a.m. (c)825am
(d) 8:35 a.m.

158). A man in a car notice that he can count 51
electric poles in 60 seconds. If the distance
between each two consecutive poles is 40 meters.
Then what is the speed of the car (kmph) ?

(a) 150 kmph (b) 160 kmph (c) 120 kmph
(d) 160 kmph

16). On a certain date, Australia has a success rate
of 60% against India in all the ODlIs played
between the two countries. They lost the Next 40
ODls in a row to India and their success rate



comes down to 40%. The total Number of ODls
played between the countries are -

(a)50 (b)110 (c)120 (d) 80

17). If there is 50% increase in an amount in 5 years
due to simple interest, then what will be the
compound interest at Rs 30000 after 2 years at the
same rate?

(a) Rs 6300 (b) Rs 5200 (c) Rs 4500
(d) Rs 7200

18). Two numbers are in ratio 1:2 and their HCF is
16. Their LCM is:

(@) 16 (b)23 (c)32 (d)60

19). If the interest is compounded annually, at what
percent per annum 40000 yields an interest of
38400 in 2 years?

(@) 7% (b)8% (c) 10% (d) 1%

20). The percentage of metals in a mine of
aluminium ore is 80%. Now the percentage of
1

-

metal Ais _ o, of metals and rest is aluminium. If

the mass oFore extracted from this mine is 12000
kg, the mass (in kg ) of aluminium is :

(a) 9600 kg (b) 48 kg (c) 9552 kg

(d) None of these

English Language

1). Choose the most appropriate option to change
the narration (direct/indirect) of the given
sentence.

The shopkeeper requested the lady to hurry up as
it was time to close the shop.

(a) The shopkeeper said to the lady, "Please hurry up,
it will be time for the shop to be closed.”

(b) The shopkeeper said to the lady, "Please hurry up,
it is time for the shop to be closed.’

(c) The shopkeeper said to the lady, "Please hurry up,
it is time to closed the shop."

(d) The shopkeeper said to the lady, 'Please hurry up,
it was time for the shop to be closed."

2). Choose the most appropriate option to change
the narration (direct/indirect) of the given
sentence.

| told my brother not to mess up the things in the
cupboard.

(a) | said to my brother, "Didn't mess up the things in
the cupboard."

(b) | said to my brother, "You will not mess up the
things in the cupboard."

(c) | said to my brother, "You will not mess up the
things in the cupboard.”

(d) | said to my brother, "Not mess up the things in the
cupboard.'

3). Select the most appropriate meaning of the
underlined idiom in the given sentence.

He makes himself a laughing stock by saying
foolish things.
(a) laughing at oneself (b) an object of ridicule

(c) making people laugh (d) mocking others

4). Select the most appropriate antonym of the
given word

ACKNOWLEDGE

(a) grant (b) decline (c) accept (d)own

5). Select the most appropriate synonym of the
given word

Deference

(a) complication (b) dishonor (c) disregard

(d) compliance

6). Select the correct passive form of the given
sentence.

People speak English all over the world.

(a) English is spoken all over the world.
(b) English was spoken all over the world.
(c) English spoken all over the world.

(d) English is being spoken all over the world.

7). Select the most appropriate meaning of the
underlined idiom in the given sentence.

Let us put our heads together to find a solution to
this problem.

(a) to sit close to each other

(b) to be collectively responsible

(c) to face the trouble together

(d) consult and work together

8). Choose the most appropriate option to change
the narration (direct/indirect) of the given
sentence.

The mother said to the maid, "Have the children
put away their toys?"



(a) The mother asked the maid if the children will put
away their toys.

(b) The mother asked the maid if the children have put
away their toys.

(c) The mother asked the maid have the children put
away their toys.

(d) The mother asked the maid if the children had put
away their toys.

9). Select the most appropriate option to substitute
the underlined segment in the given sentence. If
there is no need to substitute it, select "No
substitution”.

A lot of people had just already gathered at the
scene of the accident.

(a) No substitution (b) had already
(c) already just had (d) just had already

10). Given below are four jumbled sentences. Pick
the option that gives their correct order.

A. The lifeboat reached the drowning man and two
sailors pulled him onboard.

B. This was not easy, for the man was heavy and
the sea was rather rough.

C. The lifeboat was raised out of water and the
rescued man, wrapped in a blanket, was helped
out on to the deck of the ship.

D. Then the sailors began to row the boat back to
the ship.

(a)ACBD (b)ABCD (c)ABDC (d) ADCB

DIRECTION 11 -20 Read the following passage
and fill in each blank with words chosen from
options given.

| was away in a (1) part of Japan
waiting for a (2) train at a small (3)
station. A young girl was also waiting

(4) the train. | watched her (5)
out a candy from her bag and eat it.
Afterwards, she walked (6) toa

nearby waste bin provided on the (7)
to deposit the wrapper. Such is the level of (8)
to keep surroundings clean from a
young age. It is the (9) (10)
from an early age.

11). Select the most appropriate option to fill in the
blank No. 1

(a) early (b)near (c)close (d)remote

12). Select the most appropriate option to fill in the
blank No. 2

(a) convergent (b) combining (c) connecting

(d) connective

13). Select the most appropriate option to fill in the
blank No. 3

(a) wayside (b) sideways (c)outside (d)inside

14). Select the most appropriate option to fill in the
blank No. 4

(a) of (b)about (c)against (d)for

15). Select the most appropriate option to fill in the
blank No. 5

(a) take (b) give (c)throw (d) catch

16). Select the most appropriate option to fill in the
blank No. 6

(a) briskly (b) loudly (c) wearily (d) briefly

17). Select the most appropriate option to fill in the
blank No. 7

(a) bench (b) counter (c) platform (d) window

18). Select the most appropriate option to fill in the
blank No. 8

(a) awareness (b) attention (c) disregard

(d) ignorance

19). Select the most appropriate option to fill in the
blank No. 9

(a) fashion (b) habit (c) accomplishment

(d) inexperience

20). Select the most appropriate option to fill in the
blank No. 10

(a) expanded (b) programmed (c) brainwashed

(d) inculcated



